Math 1850 Test 4 Name:

Show all necessary steps clearly, neatly, systematically to receive full credit.

1. (2 pts) Multiply: (7—20)(3+1). 4. (5pts) Divide: 2=
z 2430

Dl 4 FL —hL ~24

\\

w2 | A 2 &
= 7} + A -+ 2 _ n e o 23
2+ 34 2~ 34
= I o g
P }f ] | | \
(o)ﬂ,., 2 {?,\quk}' "F{'P;_.S,:“
e s "
[2) = (34
. Z
4 — 94
3 4
ii" e ,12 Mﬁ. e i
2. (2 pts) Find domain of g(x)=3/2x-7. o p — 12 A4 =
4 + 9
P , " B . |
Gt D - 00, 00 ) b )
_D{);‘c\ { ; /g ) s > {\'
T
| B
= - --§~ —
5 E 12 7 4

wh
-
wn
)
[ ol
[#2]
p—
-
=
a.
o,
o
B
&,
5
©
}n-ﬁ
~
—~~
)
g
1]
ﬁ
|
(%]
&
+
n

3. (2 pts) Multiply: (2v& +5vm |V —4/m ).
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6. (5pts) Solve: 2(2x—52+5=15. 8. (5 pts) Add:
| —331/24x 3 +xyq/—81xy - 4yy/3xty’
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(5 pts) Rationalize the denominator:
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7. (5 pts) Solve: /5-x-1=x
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10. (5 pts) Solve by quadratic formula: 26r -2 =37>.
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11. (7pts) Let f(x)=x"+10x+23.
a. Find the vertex.

L d. Find maximum or minimum function value.
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e. Sketch.
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c. Find the axis of symmetry.




12. (7 pts) Solve by completing the square method: 2x” —16x+2=0.
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